ehk)

o *N\QL/.‘,T.\\
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@ EtBiiE : [ProgA2] Quadratic Functions ZXE#

Program A2. [421] Quadratic Functions =Y (95 bytes)

MODE : 2 (CMPLX)

ClrMemory: ? -+ A:?>B: 7> M: B~ 4AM—>D 4 -B- (2A-»C 4 -D- (4A 4 AC' M4 :C+

V{-M~ A->X 42C-X->Y 4 MM=:C 4 :Sci8: While Ans # Rnd( Ans M# : /(D M: 8

WhileEnd : Norm 1: Ans- (2A 4 M 2

WA

o
Vertex TE2S = (L,
X = D quﬁ

=0+0v0O

e
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MODE : 1 (COMP)

ClrMemory:?=»A:?—+B:?—+C:?->D:Pol(A-C,B-D 4(B-D)- (A-C—+>M 4B-Ans 43

Ad?7>X: 7Y (AY+CX) (X+Y>X AANSM+B-AM—=>Y 4-1/ M 4Y-AnsX 4 88

R

Distance

[ * 5/) g5t

¥ Eq;_a*tgion y=Dx+j

% T oD
o Ol
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MODE : 1 (COMP)

ClrMemory:?+X:?2=>Y:?>A:?+B:?7+C:?->D:(B-D)- (A-C—+M:IfX=0:Then 45

Y*(B-AM 4 Y (M 4ElseX*((B-AM)- log(Y,X 4 M- log(Y,X 77

log, .y
A

& Kingsley’i% : kit eaigiat # Kingsleyh ik : siRit#iRiE

xE yE xE yE 5

| 73 ')
L0 (DTD) {EL.ED HARN(EAE]
A B A B




ASGS FEFLEET

Program Ad4. [1281] ASGS%E%M&U(SOébytes)

MODE : 1(COMP)

ClrMemory:? > A:?7=+B: 7=+ X:?=C:?=Y:?7->M:IfA=1:Then(X-Y)- (B-C—+D 44

AX-BD+D>A 4A+DM-D 4AM+DM(M-1)-42 4D 4A-D 4D~ 2 4A-D- 2 4 90

IfEnd: If A=2:Then (X< Y)*((B~C)" - D:IfEnd: If sin(90 (B~ C))=0: Then Goto 9 : Else 133
<)|Goto8:Lb18:D 4X- (DY(B-1)-+A 4AD*(M-14A(1-DX(M))< (1-D 4IfEnd: If 178
= |Abs(D)>1:Then0':Else A (1-D 4Lbl9:D 4-D 4X- (D*(B-1+A 4X-((-D)*(B-| 225
)| 1>B 4AD(M-14B(-D)*(M-14A(1-D*(M))- (1-D 4B(1-(-D)"(M))- (1+D | 278
=)\ 41fAbs(D)> 1: Then0™': Else A~ (1-D 4B (14D 4 IfEnd 306

Ab
2535

'1. AS %%ﬂ?'] i




@ st : [Prog A4l ASGS HESLLHT

D P

RIETNE
1.ASEEHS) : 1 b
2. GS FLLEF : 2 =
b a; =
an= D an=
an= D S[] B
aD - ? Soo =
A
BIEThEE
LASEEHY : 1 3
2.GS ZHHF : 2 =
o di =
an= D an=
an= ] S:J -
aD =7 Soo =

82
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© A/ S5/ -RNMTREE -

A /
4 | y/
.\.\t : ﬁ ; /..M/. w /./.
= Ll Lui'Vﬁ; ..h._...
Centrold is the point of Orthocentre is the pointof ~ Circumcentre is the point
intersection of three intersection of three of intersection of throe
medians of a wiangle. It altitudes of a triangle. perpendicular bisectors of a
divides the medimn BOAZABHSHAR  tangle. Itis equidistant
intemnally in ratio 2: 1, % - from the three vertices of
ELR=MIBR= 4 the triangle. It is also the
(3RS « EHPBEL2: ) centre of the circumcircle of
NS - the triangle.
Q‘”ﬂ RORA=ABR=
EERERE? AR - TR
. o B =ETRESE B
cx»-ﬁﬂﬂﬁm>lig. ﬁ—.ﬂ*w ”NB&S%ESE
@ A 100%WEOSEREEL Fig

In-centre is the point of
intersection of three angle
bisectors of n triangle. It is
equidistant from the three
sides of the triangle. It is
also the centre of the
inscribed circle of the
triangle.
RO ZBZMIBH= My
AR - ER=MR
=805 - EHHZ M
o eI oL -
R A : Wollrom mozhvwond

G [ZE—] WO O BEARBE

In-centre (AIY)
/ Angle Bisectors (B.Hg) x3

b

Circumcentre (JN1))
/¥ Perpendicular Bisectors (EBFA1§) x3

Orthocentre (i)
/# Altitudes (%ig) x3

‘

Centroid (fZ1lh)

/ Medians (chig) x3

P
B

A
A
N



Kingsley 89 5° BUS 110 5+ mnsgsmpmsam ose g |

In-centre
/A Angle Bisectors (x3)

Circumcentre
/7 Perpendicular Bisectors (x3)

Orthocentre Centroid
A Altitudes (x3) /4 Medians (x3)
"W e send me

an in-centre RRF BR3P

70 A E) S

P g (x3) £ BYAE () P B (x3) P EERHE ()
[ B £y I
< 3 | h ¥

121
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® [(HE)] WO o fE

Circumcentre (9MY)
¥ Perpendiculor Bisectors
(ERTMR) x3 . . LA, B
fo 2 Tl |

N #2v R shin (A RKR)
Orthocentre (i)
¥ Ntitudes (%i8) X3
. )
A EATRE
shin (AR KA

Acute-angled Triangle Right-angled Triangle Obtuse-angled Triangle

) (ER=AK) (HA=mk)
In-centre ()
A Angle Bisectors (BIZA4R) x3
A N A
Centroid (JiZI)
A Medians (cpig)) x3
}xgw >E ><& r

__

122 ©Kingsley Maths
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© [(FH=] WD D FHHER

} g
L 3
ﬁﬂ*.—mﬁ G Perpendicular Bisector (EEV24%)
Median (ch£%)
Isosceles gl Bsector (RTA)
Triangle /  Attitude (%5t8)
Ammmm av ¢ \ M_Scanm:na (9nm)
=\ Centroid (fZ/)
ZRLNAE : OOY

In-centre (RIY)
Orthocentre (1))
s :

. il ﬁﬁl%\ *wo__m:mm_‘ (HiR)*

@ [FH=] WO o F5iENR

Perpendicular Bisectors (EEFAHR)
BHIERO i
Angle Bisectors (BZ494$)
= Altitudes (B5¢8)
Equilateral —
& Circumcentre ()
..—_-_”—m:m—m Centroid (fiZ1y)
—_— In-centre (PyIl)
Amﬁlm mwv - M i hnﬂm%n“na (F]|L)

ZiXPHwE : Y

. Wi & A—{iE

[re——
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¥ [EEN] In-centre (L) O #HHY

Inscribed Circle Ai])E

Tangent &} /' Tangent 83 &
In-centre Ay/l) In-centre P/} S_M.gmguwoa
= Centre of Inscribed Circle Ay ) EAYEI bty
n
VAN
. &
% 3% X A,
& %
Tangent Properties % ® /
A A e
¥ [Z%A) Circumcentre (JhD) D tHE
Circumcircle SMEE
¥ \
& ud &
Circumcentre JM() Circumcentre M\ (o
= Centre of Circumcircle SMEEMEIN Y]

A

OA =0B =0C

equidistant from three vertices
BR=(ATRRAEE

%]

—]
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@ SRk ¢ [Prog B4] Four Centres [i»

o P Coten B0 (32 )

MODE : 2 (CMPLX)

n_qgm_.:oqcnu..v?wlvw“..Vlvn“>+w+n|v>>“wun|vx”>|w|v<;>|_wLXL:’nn 44

+D:C-iYtan(arg(iDM- 4 M- 2 4 Abs(X )+ Abs(A - C)- Abs(Y: Ans - i Ans tan( .5 arg( 82

D:C+Ans(.5 Z arg( X 93

B
A +

+

SHIFT EXE
e  Centroid i) = + 4
T
EXE E :
Orthocentre & = L+
EXE SHIFT EXE

)

Circumcentre > =

S ¥

2

EXE

5)

In-centre A




@ REMR : BN 0 EA=AR

g A% . —IREEEERLEA 1!

O

60°

30° B

45°

45°

@ EtenissiE ¢ [Prog B3] Trigonometry =5

. P_rogrurh B3, [581) Trigonometry = (200 bytes)

MODE : 1 (COMP)

ClrMemory : While1: 2> A:?—+B:? > C:AB<0=Goto 0:B— X:-sin(C)- sin(A—>B: 39
A<o=§g:sfi.__(A’+x2-c1)-' (2AX—+B:X—>C:Lbl0:C<0—>D:Abs(A 4 Abs(B 4A<0= 85
Break : D =» 180 - A - §in"{( BC'sin( A C : C 4 Pol( B tan( 90 - A-C,-B) sin(A 4 Y 4 X sin( 126
C 4-5BAnssSin(A 4DY-A—C:Ans>0 = GotoO: WhileEnd: cos™(D = Asin(B+C)-!sin( | 163
C—C:~C 4 Pol(Ans+Acos(B,-ASiN(B:Y 4 X 4180 -B-Y 4 .5ACsin(B 200

N2 D .
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@ itBisETE . [Prog B3] Trigonometry =f

@D o ekl p it i @ sk =kl

A

9¢m

6cm 12¢m 14cm
10¢m ) 18cm /D

Area Effl = Area i = Area @#i =

36cm 22¢m

43°()
100°
30cm
Area Eff = Area EH =
17¢cm 17cm
23¢m 23cm
Area @l = Area m@H =

(@ @ kingsley.dse.maths (O +8526675 2058 173



SCLCT |
Vertical ($82) / Perpendicular to Plane (E|EHRFHE) / Height (%5)

@5 iEst : TRBRRER

‘

' S LHBREN w

B : https://www.mathsisfun.com/geomet
pythagoras-3d.html

il

4
4

*-,L--

4

5

f

= B e ———— ]
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Angle between Two Planes

WMEERA (MEXs]

in the figure, ATVW = AUVW. Find the angle between the plane TVW and the plane UVW.

@B > ATVW = AUVW ¢ SR TVW SRILE UVW 0358 »
%‘TS 55/

Q) Bf=
LTWU

VU AR : LSS (ME3XA]

(In the figure, ATVW = AUVW.) Find the angle between the plane TVW and the plane UVW.
(@ » ATVW = AUVW « ) RIZE TVW RIEE UVW IRZA » T

AFETVW =1
A FEUVW = 1L
*$83348 VW = L
SR i, .

180 ©Kingsley
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(in the figure, ATYW & AUVW.) Find the angle between the plane TVYW and the plane UVW.
(@ ATVW 2 AUVW o ) RIZE TVW RIZE UVW RIBVAEAS o

T

)
Bitch

-
-
n”
1 3

e BE L

garel | $BE  FER—EL (ERASHCLLEE)

s

LR

$EQ : BEEA(x2) SRE . ELEHZE = ZH

= kingsley.dse.maths (© +852 66752058 181



v

Dihedral Angle Formula l

b & B AR —EEAR

;3W : https://en.wikipedia.org/wiki/Dihedral_anglet{Geometry

Let (&%) XA =60

cosx — cosa e cosb

cos @ = - -
sina ¢ sinb

184

e e i S = S S i e T

©Kingsley Matt



Kingsley ) 5** S48 | #4153 5** L HIB AR DSE #hi% B

@ s iE - BoE’
r Area Projection Theorem l
v BODXE HiRaR R

KR - HKCEE A.Maths 2003 - Q18

W
4} iy
Wl

Let (&%) =6

HFER

cosf =




@ B : Ratio of Area (E L)

S BERR(—) ~IeERRE )

FT8eeIs

same height ()

Ratio of base (f§tt) = Ratlo of AREA (EHith)
a:b=A:B

Aok —=2 Bk




